Exports and Imports and Aggregate Demand 

Starter 

Define the term ‘exports’ (3 marks) 

……………………………………………………………………………………………………………………………………………………………
……………………………………………………………………………………………………………………………………………………………
Define the term ‘imports’ (3 marks) 

……………………………………………………………………………………………………………………………………………………………

……………………………………………………………………………………………………………………………………………………………

Activity 1: Read the 3 articles provided and identify the factors that affect both the levels of exports and imports into a country. List these factors below.
	Reasons for a rise in exports 
	Reason for a rise in imports

	1
2.
3.
4.

	1
2.
3.
4.



Extension question: What do you think is meant by the term trade deficit? Why do you think the UK runs a trade deficit?
……………………………………………………………………………………………………………………………………………………………
……………………………………………………………………………………………………………………………………………………………
……………………………………………………………………………………………………………………………………………………………
……………………………………………………………………………………………………………………………………………………………
UK exports surge despite the Eurozone crisis

Britain's trade deficit with the rest of the world narrowed more than expected as exports rose and imports fell slightly, reflecting softer domestic demand. 

The UK's Office for National Statistics said exports were valued at £25.5bn, up 0.6% from July and the highest level since monthly records began in 1998. That will bring some respite to the government as it looks to exporters to pick up the slack from lacklustre domestic aggregate demand.

The data contrasts with business surveys suggesting export orders have been softening as key trading partners in the eurozone grapple with the sovereign debt crisis and stalling growth.

The British Chambers of Commerce welcomed the data but stated,"The government must support a national export drive. Unless we accelerate the pace of export growth. The government must strengthen its backing for SME exporters in key areas such as trade finance, insurance and promotion ... On their part, Britain's exporters must make every effort to diversify their sales towards fast growing economies such as India, China and Brazil."

US decision to take China to WTO ignores the bigger issue

China's use of subsidies has been less important than its manipulation of the exchange rate
In truth, China's use of subsidies has been less important than its manipulation of the exchange rate to ensure that exports to the US remain cheap. Keeping the yuan artificially low has been remarkably successful in getting tens of millions of Chinese people out of the fields and into the factories, but it has created real tensions with a US policy elite convinced that China is using unfair means to challenge American economic hegemony.
Guardian, June 2012

It’s too late for other Europeans to be as efficient as Germans

The euro prevents the differences in currency strengths that once evened things out, argues Boris Johnson.

Let us imagine that there are two factories, producing similar cars, and that one factory is German and one is Italian. Let us suppose that to assemble and spray each unit costs 1,000 euros in both factories — at least to begin with. Over time, however, history teaches us that the German factory will start to reduce unit labour costs. Without compromising quality or reliability, the German factory will start to find ways of speeding the process up. By investing in the skills of the workforce and in high-tech capital equipment, they will find a way of reducing the unit labour cost to 900 euros. At which point, the Italian factory faces a crisis. They can cut costs themselves, but without the gains in productivity – and face the risk that the car will be correspondingly shoddier and that they will be rumbled by the consumer. Or else they must face the awful reality that the more-efficiently produced German machine will start to devour their market. 
Telegraph 30 Jan 2012
Factors that determine the level of Exports 
	Value of Sterling
	

	Level of overseas demand (AD curve of foreign countries)
	

	Competitiveness of UK goods

	

	Price levels of UK goods and services compared to Foreign goods and services

	

	Government Subsidy


	


Factors that determine the level of Imports 

	Value of Sterling
	

	Level of aggregate demand


	

	Competitiveness of UK goods in comparison to foreign goods


	

	Prices of foreign goods as compared to UK goods and services

	

	Government Subsidy


	


Exchange Rates 

Definition - The value of one currency as measures by another (e.g. £1 = $2). 
A currency is said to become stronger if the exchange rate improves so that more of the foreign currency can be bought  with the same amount of domestic currency.

Activity 2: Complete the table by adding the missing prices in the table below.

(Note: The first 2 columns below measure the exchange rate between pounds and the dollar)

	£
	$
	Value of a $10 t-shirt in sterling (UK pounds)

	1
	2
	£5

	1
	3
	

	1
	4
	

	1
	5
	


Extension: In the activity above what is happening to the value of the pound? Is it rising or falling? 
Activity 3

A UK company   sells T shirts in the UK for £10. It also exports these T shirts to the USA.
Calculate the price American importers of the T shirts will pay if the exchange rate increases from £1 = $1 to £1 =$2. Provide the price before and after the exchange rate changes.
What is the likely effect of an increase in exchange rate of the pound on value of UK exports? Explain your answer.
……………………………………………………………………………………………………………………………………………………………………………………
……………………………………………………………………………………………………………………………………………………………………………………
……………………………………………………………………………………………………………………………………………………………………………………
……………………………………………………………………………………………………………………………………………………………………………………
Activity 4: In the space below draw the effects of a fall and rise in the value of the pound on the Aggregate Demand curves below.
Effect of a fall (weakening) in the value of the pound on AD

















Effects of a rise (strengthening) in the value of the pound on AD.




















